(3) MAT-1
sifg® argar aaar
MENTAL ABILITY TEST

T WA-UA § FeA 50 W & | U WA TH 3k BT ¢
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W (1-4)/ Questions (1-4)

fridw : W 1 @ 4 7% T d U R-gu & T R, e e i) @ ¢ Mo gue
fg (7)) @ woifar e &1 9 w% 3w Aot & A el e el F @ 0 31w ferpew
Y | | ‘

Direction : In each of the questions 1 to 4 a letter series is given with one term
missing shown by question mark ( ? ). This term is one of four alternatives given under
it. Find the right alternative.

1. G K 0.8, ?.

(1) @y W 3) V @) X.
2. DX, HT, KQ, OM, ?

(1) sJ (2) RK 3) QJ 4) RJ.
3. H,D,AY,X °?

() X 2) W B3) T @) V.
4. KLE,IND, GPC, ? , CTA.

(1) DRB (2) BSE (3) ERB (4) ECR.

WS (5-8)/ Questions (5 - 8)

fiw : W 5 ¥ 8 7% AT A UH FEm-Aoh & ¥, e ow @ o & o gee
fag (7) | <o T ¥ 9 9% 39 Svit % AR KE T 9R fawedt § @ wE §) W fawed W
It |

Direction : In each of the questions 5 to 8 a number series is given with one term
missing shown by question mark ( ? ). This term is one of the four alternatives given
under it. Find the right alternative.

5. 4,9,25, ? ,121, 169.

(1) 36 (2) 49 (3) 64 (4) 81
6. 1,3,7 13,21, ?, 43,57 ‘

(1) 31 2) 29 (3) 30 (4) 32
7. 5,3,10,8,17,15 ?, 24. ",

(1) 25 (2) 23 (31 26 ) 4) 27.
8 97 77,59, ?, 29,17.

(1) 34 (2) 39 (3) 37 (4) 43.
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9. N ¥ W W H &t HYT 3R F 3 frwe 1w 1 ¥ A R e B et v
A ?, Aot & o wewd awl § o e e €1 |l frehst # emgds v ge w
A B S P R T e w1 ae W ORT R SRR w b, R
T T qeA @ e et
wUA: () W A, gfeEE E

@ : P Ao, fofe €
frend O : uh ol wfeend, gieem §
Iy : 9 gisEE, g €
(1) ool fepe 1 ©
(2) oo =R 11 9 §
(3) cHIfT=Re ] R 1w E
(4) A =R 1 @R T & e 1 T

In the given question there are two statements and they have two conclusions
I and II. You have to take the given statements to be true even if they seem to
vary to commonly known facts. Read the conclusions and decide which of the
given conclusions logically follows from the two given statements even
disregarding commonly known facts.

Statements: (i) : All women are intelligent.
(i) Some women are educated.
Conclusions : (I) All educated women are intelligent.
(Im - All intelligent are women.

* (¥} Only conclusion I is true
(2) © Only conclusion Il is true
(3) Both conclusions I and II are true
(4) Neither conclusion I nor conclusion II is true.

10. @ 72 w9 & U FO F I T 1 Wllﬁﬁﬂ&%lmmm%%mﬁﬁ?m
T ‘UEe e wER g |
®UA : TG Ud SAE Heioh WU Y e W) W eR] AT =iy |
ad: () &, 98 e & gaor e ¥ geEe g
| (1) &, o7 ereAmgeRl W 3y WR S|
(1) %k [ o I 3 ueet & (2) @ 1 I IF HER &
(3) T 1 VS € F T I FAR 8 (4) T | HESIRK & & T 11 99 T
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In the given question, a statement is followed by two arguments I and II. You
have to decide which of the following arguments is 'strong’ or ‘weak’.

Statement: Continuous and comprehensive evaluation system should be
implemented at school level. '

Arguments: () Yes, it helps in all-round development of the child.
(II) No, it puts more burden on teachers.

(1) Arguments I and II both are strong

(2) Arguments I and II both are weak

(3) Argument I is strong and II is weak

(4) Argument I is weak and II is strong.

11, & ™y § oF w99 9 I9H @ R0 KA @ §| e o w@ foehew w1 g
it |
waw e T ot AR e
FROT  :  AHET AR S A @rE 7 ST AR €
(1) &% 3R SR A TA & (2) U T ¥ ARG RO I ¢

(3) U ITEA ¥ AfHA FRUT T & (4) YT AT HROT AT A €1

In the que's'tion given below, a statement is followed by a reason. Choose correct
option for them. -

Statement : Narmada river flows to west.

Reason Narmada river falls in the Bay of Bengal.

(1} Statement and reason both are true

(2) ~Statement is true but reason is false

(3) Statement is false but reason is true

(4) Statement and reason both are false.

12. B d ® F9-91 37 INE 99, FR F a6 H G T F AT Fr g ?

Which of the following Venn diagrams correctly represents Bus. Car and

Vehicle ?
1) @ @ O
3) | @)
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13, 7§ ¥ FR-E1 O I W T, FUS F WFE T F A €9 H WG FAE 2

Which of the following Venn dlagrams correctly rcpresents white colour, clothes
and natural flowers ?

(1) - @

@) | @ OO0
W (14 -15) / Questions ( 14-15)

& T a9 @ ° 500 I A F Hifaw fawe, W%ﬁmaﬂtnﬁmﬁwaﬁﬁﬁww
W TS R TS U £ 1 3 ST % YR W WY 14 3R 15 HT I I

Out of 500 students, the following Venn diagram represents the number of students
who got Distinction in Physics, Chemistry and Maths subjects. Answer Q. 14 and
Q. 15 based on Venn diagram.

Chemistry ' EE Physics
vt
Maths

14, g faem 3k T <A fawat o faei dvaar wa oEt ® we e g, S IEd
T o fore o vty dvaar e ot wftafad 7@ e s 2

How many students got Distinction in both Physics and Maths subjects, when
the students who got Distinction in Chemistry subject is not included ?
(1) 26 (3 15 (3) 28 (4) 24.

15. dr fomat # favtw g s st @)yt s g 2

What is the percentage of students who got Distinction in all the three subjects ?
(1) 28% (2) 35% (3) 38% 4 40%.

WS (16 - 17 ) / Questions ( 16 - 17)
fdwr - mmauﬁ#ﬁﬁﬁm%ﬁqﬁzﬁm%mwﬁmmm%lw
faesheq g7 FX WEl I et |

Direction : In questions 16 and 17 three alternatives are alike in a certain way but
the rest one is different. Find out the odd one and write correct answer.

16. (1) M / Afghanistan (2) Eel / Kabul
{3) ¥ / Spain (4) T / Iraq.
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17.

18.

19.

20.

21.

22.

(7) MAT-1

(1) 1 (@) 729

(3) 144 (4) 64

‘A+BF IT A, BRI &I ‘A B’W@R&A Baﬁv%r%laapua oa?r'amani
B 2

‘A + B’ means A is the son of B. ‘A — B’ means A is the wife of B. Then what does
P+ R- Qmean ?

{1 o pwifre / Qs the father of P
@) Q PRI TAE / Qis the son of P
(3) R QW fuar & / Pis the father of Q

- (4) R.Q“‘P'%/Risthesonof@.

T et B % AR #R P, Q, R, SR T & &% &I 3k 4 0 93 §1 R P& 3%
TR AR, 3R S F qEr AR W T WH W R TPaséaahﬁaﬁ%lR%aﬁaﬂw
TR GARWHAE ?

P, Q, R, S and T are sitting around a circular table facing centre to thc table. R is
just the right to P and is second to the left of S. TIS not between P and S. Who is
second to the left of R ?

1y Q ' 2) s

3 T @4 P

oo T o U, s W o v, o W oad w0 AR § W e w @,

27 >81$ 9 < 6 H T FT E 2

If ‘<’ means ~’, >’ means ‘+’, =" means ‘x’ and ‘¢’ means +’, then what will be the
value of 27 >81 $9<6? PR
(1) 6 (2) 36 3) 30 (4) 54.

IR Y IR FAAT-Fen Rafaat A= < @ €1 6 F faudid wore W wH-wH g € 2

The four different positions of the dice are given below Which number is on the
face opposite to 6 ?

RcIcicl:l

(1) (2) (3) (4)
(y 1 (2) 2 (3) 3 @ 4
wsﬁﬁwwﬁmmﬁmﬂmvﬁq%laﬁzﬁﬁgmmﬁwwﬁﬁwﬁﬁ
ferar <rem 21 3 @ TR o O € et 9t weE T & 2

All faces of a solid cube of edge 8 cm are coloured. It is divided equally in the
cubes of edge 2 cm. How many cubes will have all faces coloured ?
(1 1 (2} 0 "3 8 @ 4
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23.

24,

25.

26.

27.

28.

af el g2 Wi # ‘SOLID’ # ‘HLORW' fovar st &, & 3%t g s 3 Gas
forar smam ' |

In a coded language the word ‘SOLID’ is written as ‘HLORW’, then in the same
code language ‘GAS’ will be written as

(1) THZ , 2 TYI (3) TZH (4) ZHT
fs fordit e w1 | 1= 9 UF GIRL = 46 &, df BOY = ?

If inacel"tajn codel=9and GIRL = 46, then BOY =?

(1) 37 2) 39 - (3) 24 @) 42
o 4T, S O ) wd , A Go  we @ e § 2

If Ranjana is the sister of the.son of Sohan's son, how is Ranjana related to
Schan ?

(1) T/Daughter | (2) W@/ Sister
(3) WH/Granddaughter (4) =mET/Uncle.

o S e @ @ e R R @ oRed we o, o Swg R 9w e
SRR 2

If North direction is called East and South direction is called West, then what will

be called North-East direction ? |

(1) IW-Yd/North-East | 2) gé—zfém/East-Sou&
(3) uf¥am-3RUT/West-South (4) w—qﬁﬂn/Nonh-West.
A el T s & ST S 3 Reed g O) @, R s 2 @ 2

How many pairs of successive numbers have a difference of 2 in the following
sequence ?

6,4,1,2,2,8,7,4,2,7,5,3,8,6,2,1,7,0, 4, 1,3,2,8,6

(n 4 2 S (3) © @ 7

Frefiam ) ket s s e

‘A— @ B_ PRA®EI C— fafke® D— §@R E— WA oW

Arrange the following in a meanihgful sequence :

A — Medicine B — Diagnosis C — Doctor =~ D— Fever E— Recovery |

(1 DCABE 2) DECAB (3) DCBAE 4) CDBAE.
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29.

30.

(9) MAT-1

feft T foredt A @ o WE@W (7 ) B WA HAG, Falk AN spiad d wHA e
AT T B

Find the missing number ( ? ) from the given alternatives, when same rule is
applied in all three situations.

5 21 | s1

16 |109]| 2 225319 17| »? | 48

6 15 13
iy 7 2) 25 @) 49 (4) 129.

5 e T @S IEE O | wefke ¥, 39 R w ww f § | e @ gdia
g ?

‘As ‘part’ is related to ‘whole’, in the same way an ‘Arc’ is related to which of the

following ?
(1) 34/ Rectangle (2) d9x/Circle
(3) ﬁ‘ﬂ?l/’[‘riangle 4) ?;Tﬁ/ Square.

WS (31 - 34 ) / Questions ( 31 - 34

frder : WY 31 @ 34 @ § fasi & o 9 &, B v we =) wnen-far @ gt ®t st
Fed ¥ gn-faa wh #9 4 OF % 9% UF W g §) ! S-f A 4w o fa
< &, o we-fet 7 R s s o1 w1 W gw-fa g

Direction : In questions 31 to 34 there are two sets of figures. One set contains
problem-figures while the other has answer-figures. There is a sequence according to

which the problem-ﬁgures are arranged. You have to select an answer-figure which
can be added in sequence with the problem-figures. Choose the correct figure.

31.

32.

33.

que-fax / Problém—ﬁgures IW-TaF / Answer-figures
Oolola| LA
(a) (B) (C) (D) (1 (2) (31 4@
uwEr-faa / Problem-figures W-FEH / Answer-figures
(A) (B) (C) (D) (1) 2) (31 (4)
m-fiﬂ / Problem-figures I-T9T / Answer-figures
(A) (B) (C) (D) (1) (2) (31 (4l
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34, FFTRTT%H’ / Problem-figures IA-TeF / Answer-figures
‘ a [a] o A .
A -a I_ A _
n N ; lao ola_o| Ao
(A) (B) (c) (D) 7 Mm@ @ ey

WS (35-38 )/ Questions ( 35 - 38 )

Ry s mm iR Am A R E TR I o R mﬁa‘rﬁﬁﬁqﬁm%l
waﬁﬁﬁaﬁgﬁ'&l

Direction : In questions 35 to 38 there are four figures given in each. One of these
does nof correlate with the rest of the figures. Select that odd figure.

ss. |C|J|S |U

(1) 2) (3) (4

[

1 2 @ @

I NZ= NS
ity 2) 3 @

NN A%
38 PN | [dN| AN dN)

(1) 2) 3 (4
e (39 40) / Questions (39-40) |
frdwr - msgammﬁa”rﬂ%m?%waﬁﬁwuﬁﬁwmﬁﬁq waﬁwﬁﬂé%ﬁ%
T 3R &

Direction : In questions 39 and 40, find the correct mirror image of the given figure,
when mirror is placed on right side of the figure.

39. STOP .
(1) eTod (20 90T2 (3) 9TOR® (4 POTS
40. W—Hl?ﬁ-r / Question-image | Tﬁ?-ﬂ@fﬁ / Answer-image
olt] \ tialiviolidloflt]o
ala ' olol|¢|0O]|V]|O]|A|O

@ @B 4
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o ( 41 - 42 ) / Questions (41 - 42)
frlwr : T 41 3 421 & 7 Ry @ W o st T Fif
Direction : In questiéns 41 and 42 select the correct water image of the given figure.
41. WEA-3MH / Question-figure
(oo
IW-AFFTEr / Answer-figures

<—®O @ <—®O (3)_@—» @

42, M-BT@R"[ / Question-figure

X7TW4
ITR-SHAT / Answer-figures
(1) Ximt (2) X7TM4 (3) Xiwt 4 XiM¥

WY (43 -44) / Questions ( 43 - 44)
Pk + e et e g e e &, o feg e & o gt o, o v
W €19 aTell il STL-3THia § | FA-8 @it 2

Direction : A square transparent sheet with a pattern is folded along the dotted line.
Which of the following answer figures is formed after folding the transparent sheet ?

43. gREE U / Transparent sheet 3?1'(-&!‘:"/ Answer-figures
*°e . < : e o :’
(1) @ 6@
44, qRESH 99 / Transparent sheet W—ﬁi /| Answer-figures

(1) (2) (3) 4
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W (45 - 46 ) / Questions ( 45 - 46 )

Py + it fog o For e S SR @ E B e e (Wi &) v IR sy o
¥ 3 39 WE IF B W |

Direction : In the following figures there is a question figure, which is embedded in
one of the answer-figures. Trace out the cdrrect figure.

45. W-N@Tﬁf / Question-figure A 3?!?31135%’&? / Answer-figures
) (2) (3) (4)

46. W-?ﬂé‘?ﬁf / Question-figure . W—H@ﬁﬂﬁ / Answer-figures
(1) (2) (3) - {4)

47. wA-u1 I-Foa 5@ T Afgam-fom wt i wom 2

Which of the answer-figures completes the given matrix figure ?

RIAEIRYE
RN
L
® zﬁzo*i180&“4*5=1;§)ﬁ,a}7*7wn:;rm-? i

If20 * 3 = 180 and 4 * 5 = 100, then what is the value of 7 * 7 ?

(1) 21 ‘ 2) 49 (3) 343 @) 7.
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49, A & i arghy § At Y WA wAwy

Determine the number of squares in the following figure :

() 14 2 9 3 10 4) 16..
50. R T T o wHae W @ T e S

How many cubes are laid on é plane as shown in the following figure ?

(1 14 2 12 3) 10 4) 8.
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